Name ___________________________Period _____________Date ______________

Honors Chemistry Topic I   Review
Directions:  Show all work.  Label all answers.  Report your answer using the correct number of significant figures.

1. Make the following conversions.

a. 157 cs to seconds  (1.57 s)

b. 42.7 L to milliliters (4.27 x 104 mL)

c. 261 nL to milliliters (2.61 x 10-4)

d. 0.065 km to decimeters (6.5 x 102 dm)

e. 642 cg to kilograms (6.42 x 10-3)

f. 8.25 x 102 cg to nanograms (8.25 x 109)

2. Make the following conversions

a. 0.44 mL/min to microliters/second  (7.3 uL/s)

b. 7.86 g/cm2 to milligrams per square millimeters (78.6 mg/mm2)

c. 1.54 kg/L to grams per cubic centimeter (1.54 g/cm3)

3. How many milliliters are contained in 1 m3?  (106 mL)

4. Complete this table so that all the measurements in each row have the same value.

	mg
	g
	cg
	kg

	A) 2.83 x 102 
	B) 0.283 g
	28.3
	C) 2.83 x 10-4

	6.6 x 103
	D)6.6
	E)6.6 x 102
	F)6.6 x 10-3

	G)2.8 x 10-1
	2.8 x 10-4
	H)2.8 x 10-2
	I) 2.8 x 10-7


5. A shiny gold colored bar of metal weighing 57.3 g has a volume of 4.7 cm3.  Is the bar of metal pure gold? (See table 2.8 on p 44 of you textbook) No, metal is 12 g/cm3 and gold is 19 g/cm3.

6. The density of dry air measured at 25oC is 1.19 x 10-3 g/cm3.  What is the volume of 50.0 g of air?  4.20 x 104 cm3
7. A tank measuring 28.6 cm by 73.0 mm by 0.72 m is filled with olive oil.  The oil in the tank has a mass of 1.38 x 104g.  What is the density of olive oil in kilograms per liter?  0.92 kg/L

8. What is the mass of a cube of aluminum that is 3.0 cm on each edge?  The density of aluminum is 2.7 g/cm3?  73 g

9. Three students made multiple weighings of a copper cylinder, each using a different balance.  Describe the accuracy and precision of each student’s measurement if the correct mass of the cylinder is 47.32 g

	Mass of cylinder (g)

	
	Lisa
	Mike
	Leigh Ann

	Weighing 1
	47.13
	47.45
	47.95

	Weighing 2
	47.94
	47.39
	47.91

	Weighing 3
	46.83
	47.42
	47.89

	Weighing 4
	47.47
	47.41
	47.93


10.  How many significant figures are in each underlined measurement?
a.  60 s = 1 min
infinite
            b.  47.70 g of copper       4 sf

c.  1 km = 1000 m
  infinite
d. 25 computers  infinite
Directions:  For each question there are 2 statements.  Decide whether each statement is true of false.  Then decide whether Statement II is a correct explanation for Statement I.

	Statement I                                                                                        Statement II

	11.  There are 5 sig. figs. In the measurement 0.00450 m
	Because
	All zeros to the right opothesis may be rejected after an experiment.f a decimal point in a measurement are significant.

	12.  Precise measurements will always be accurate measurements
	Because
	A value that is measured 10 times in a row must be accurate.

	13.  A temperature in kelvins is always numerically larger than the same temperature in degrees Celsius.
	Because
	A temperature in kelvins equals a temperature in degrees Celsius plus 273.

	14.  A hypothesis may be rejected after an experiment.
	Because
	Experiments are used to test hypotheses.


11. F,F  12.  F,F    13.  T,T,CE    14.  T,T,CE

15. How many kilograms of water (at 20oC) are needed to fill an aquarium that measures 40.0 cm by 20.0 cm by 30.0 cm?  (24.0 kg)

